INFINITE SERIES

(B.Sc.-II, Paper-III)

Group B

Contents: - Infinite Series,

Cauchy's general principle

of convergence for a series,

Necessary condition for convergence.

Sudip Kumar

Assistant Professor,
Department of Mathematics
Sachchidanand Sinha College
Aurangabad, Bihar

Infinite Series

If [an] be a sequence of real numbers then

is called an infinite series.

Let $Sn = a_1 + a_2 + \cdots + a_n$ be the nth partial sum.

Then $s_1=a_1$, $s_2=a_1+a_2$, $s_3=a_1+a_2+a_3$,....., $s_n=a_1+\cdots+a_n$, $s_n=a_1+\cdots+a_n$, $s_n=a_1+\cdots+a_n$

If the sequence [sn] is convergent then the series $\sum_{n=1}^{\infty}$ and is said to be convergent series.

If the sequence $\{Sn\}$ is <u>divergent</u> then the series $\sum_{n=1}^{\infty}$ an is said to be <u>divergent</u> series.

If the sequence (sn) is an oscillating sequence the the series \(\sum_{n=1}^{\infty} \alpha_n \) is said to be an oscillating sequence.

Remark: A positive term series is either convergent or divergent.

Example: \rightarrow show that the series $1 + \frac{3}{4} + \left(\frac{3}{4}\right)^{2} + \cdots + \left(\frac{3}{4}\right)^{h} + \cdots + \underbrace{\text{converges}}_{4}.$

Solution:
$$\rightarrow$$
Let $Sn = 1 + \frac{3}{4} + (\frac{3}{4})^2 + \cdots + (\frac{3}{4})^n$
Then $Sn = \frac{1 - (\frac{3}{4})^n}{1 - \frac{3}{4}} = 4 \left\{ 1 - (\frac{3}{4})^n \right\}$

:
$$\lim_{n\to\infty} s_n = \lim_{n\to\infty} 4\left\{1 - \left(\frac{3}{4}\right)^n\right\}$$

.. The given infinite series is convergent.

Example (1) > show that the series 1+2+3+---- diverges

solution: ->

Let Sn=1+2+ ---- +h

Then $S_n = \frac{h(n+1)}{2}$

· And lim Sn = lim h(n+1) = co.

Hence the series is divergent.

Example 3: -> Show that the series 1-1+1-1+ ----is oscillating.

solution: ->
Here Sh = { 0, if h is even.}

1, if h is odd.

Hence the sequence (Sn) oscillates. Therefor, the series is oscillating.

THEOREM: The geometric series $a + ar + ar^2 + \cdots + ar^{n-1} + \cdots = \infty$ is (i) convergent when -1 < 9r < 1 and its

sum is then $\frac{a}{1-9r}$;

(i) divergent if 927,1.

(iii) Oscillating if or <-1.

Paroof: ->

The geometric series is $a+a_1+a_2+\cdots+a_{n-1}+\cdots+a_{n-1}+\cdots+a_n$

Let Sn be its paritial sum.

:. Sn= a+ a+ + --- + a>h

 $\Rightarrow Sn = \frac{a(1-9t^n)}{1-9t}, (9t+1) \leftarrow 0$

case-1:> When -1<02<1

For such 92, lim 92 =0.

 $\lim_{n\to\infty} \operatorname{Sn} = \lim_{n\to\infty} \frac{a(1-9h)}{1-9n} = \frac{a}{1-9n} \text{ (finite)}$

.. The series is convergent.

Casez: > When or=1

Then Sn = a+a+ -- + a (n-times)

.. Sn = ha

 $\lim_{n\to\infty} S_n = +\infty \text{ or } -\infty \text{ according as } a>0$ or a<0.

.. The series is divergent.

Case 3: → When oz=-1.

Then the series a-a+a-a+----

And Szn=0, and Szn-1=0.

.: {Sn} is oscillating.

.. The series oscillates finitely.

Case 4: → When 92>1.

$$S_n = \frac{\alpha(1-9^n)}{1-9n}, \quad gr \neq 1 \quad (from (1))$$

$$=\frac{a}{1-92}-\frac{a92^{h}}{1-92}$$

$$\rightarrow +\infty$$
 if a >0

and
$$\rightarrow -\infty$$
 if a < 0

... The series is divergent.

case 5: → When Pro or <-1.

Let Dr=-R Lihere R>1

:
$$S_n = \frac{a(1-9t^h)}{1-9t} = \frac{a}{1+R} \left\{ 1 - (-R)^h \right\}$$

$$= \frac{\alpha}{1+R} \left\{ 1 + (-1)^{n+1} R^{n} \right\}$$

is and so the series oscillates infinitely and so the series

Infinite series

THEOREM (Cauchy's general porinciple of Convergence for a series)

Statement: \rightarrow An infinite series $\sum_{n=1}^{\infty} a_n$ of great numbers is convergent iff the sequence $\{S_n\}$ is a cauchy sequence, where $S_n = a_1 + \cdots + a_n$.

That is if for any e>0, IN(E) sit.

[Sn-Sm] < E for all m, n, N, N.

i.e; | am+1 + am+2+ + an | < E, + m, n > N.

Peroof: ->

Lemma: → The sequence (an) is convergent iff (an) is a cauchy sequence.

Proof: - Let {an} be a convergent sequence converging to the limit I.

:. For any $\epsilon>0$, \exists N(ϵ) such that $|an-L| < \frac{\epsilon}{2}$, \forall n > N

and $\left|a_{m}-L\right|<\frac{\epsilon}{2}$, \forall n>N

 $|a_{n} - a_{m}| = |a_{n} - L + L - a_{mn}|$ $\leq |a_{n} - L| + |a_{m} - L|$ $\leq \frac{\epsilon}{2} + \frac{\epsilon}{2}, \forall m, n > N$

: (an - am / < E , + m,n > N : (an) is a cauchy sequence. conversely: - Let lang be a cauchy sequence.

.: For any e>o, = N(E) such that

: lan-am/< =, + m,n>N

 $|a_n - a_N| < \frac{\epsilon}{2}$, for all n > N

: an- € < an < an+ €, + n>N

Let S= {x \in | x < an for infinite number of members of any

 $\therefore (a_N - \frac{\epsilon}{2}) \in S \Rightarrow S \neq \emptyset.$

Also $a_N + \frac{\epsilon}{2}$ is an upper bound of S.

i. By the axiom of l.u.b. of real
numbers (A non-empty set which is
bounded above has a l.u.b)

.. s has a l.u.b.

Let Lub. of s = L

 $L \in \left[a_{N} - \frac{\epsilon}{2}, a_{N} + \frac{\epsilon}{2} \right]$

 $|a_N-\lambda|<\frac{\epsilon}{2}$

 $|a_{n}-\lambda| = |a_{n}-a_{N}+a_{N}-\lambda|$ $\leq |a_{n}-a_{N}|+|a_{N}-\lambda|$ $\leq \frac{e}{2}+\frac{e}{2}=e, \forall n>N$

∴ $|a_h-L| < \epsilon$, $\forall n>N$. ∴ $\{a_h\}$ is convergent to L.

Proof of Main theorem: ->

By lemma, {Sn} is

convergent iff [sn] is a cauchy sequence.

ie; if

|Sn-Sm|< €, + m,n>N(€)

: | am+1 + am+2+ --- + an | < E, + m, n>N

proved.

THEOREM (A necessary condition for convergence)

Porove that if a the infinite series of an is convergent, then lim an =0.

Proof: →

The series is $a_1 + a_2 + \cdots + a_h + \cdots$

: Dan is convergent

 $\lim_{n\to\infty} s_n = L (say)$

... Sn-1 = a1 + --- + an-1

 $S_{n} - S_{n-1} = a_{n}$

 $\lim_{n\to\infty} a_n = \lim_{n\to\infty} (s_n - s_{n-1}) = 1 - 1 = 0$

: lim an =0 proved,

Remark: -> Example to show that the converse is not true.

Example: - We consider the kase series (Harmonic

$$\sum \frac{1}{h} = \frac{1}{1} + \frac{1}{2} + \frac{1}{3} + - - - + \frac{1}{h} + - - - - \cdot \cdot$$

9f the series is convergent then by cauchy's parinciple of convergence for $e=\frac{1}{2}$, there exists a natural number NCE) s.t.

Let
$$n=2N$$

$$| \frac{1}{N+1} + \frac{1}{N+2} + \cdots + \frac{1}{2N} | \frac{1}{2} = A$$

But,

$$\frac{1}{N+1} + \frac{1}{N+2} + \cdots + \frac{1}{2N} > \frac{1}{2N} + \frac{1}{2N} + \cdots + \frac{1}{2N}$$

(N times)

$$= \frac{2N}{2N} = \frac{1}{2}$$

(B) contradicts (A) Hence the series is not convergent.

Hence the condition is not sufficient for convergence of series. Lawrey 4:22 "

Example: \rightarrow Poroved that $\sum_{n=1}^{\infty} a_n = \sum_{n=1}^{\infty} \frac{n}{n+1}$ is not convergent.

Poroof: \rightarrow Here $a_h = \frac{n}{n+1}$

$$\lim_{n\to\infty} a_n = \lim_{n\to\infty} \frac{h}{n+1} = \lim_{n\to\infty} \frac{1}{1+\frac{1}{n}} = 1$$

- : lim an +0.
- ... The series is not convergent of hence divergent (as it is a positive term series)

Example: - Poroved that $\sum_{n=1}^{\infty} n \cdot n$ is not convergent. Solution: \Rightarrow :: $a_n = n \cdot n$

$$\lim_{n\to\infty} a_n = \lim_{n\to\infty} n^{\frac{1}{n}} = 1$$

.. The series is not convergent.

Theorem (Bringsham Pozingsheim's theorem):-

Statement: \rightarrow If Σ an be a convergent series of monotonic decreasing positive terms, then $\lim_{n\to\infty}$ $\max = 0$

Proof: →

Let Sn=a1+a2+----+an

and also
$$\lim_{n\to\infty} S_{2n} = 1$$

:
$$\lim_{n\to\infty} (a_{n+1} + a_{n+2} + - - - + a_{2n}) = \lim_{n\to\infty} (S_{2n} - S_n) = 1$$

= $1 - 1 = 0$

$$...$$
 $0 < na_{2n} \leq a_{n+1} + a_{n+2} + ---- + a_{2n}$

Again,

$$0 < (2n+1) u_{2n+1} < (2n+1) u_{2n} = \left(\frac{2n+1}{2n}\right) (2nu_{2n})$$
 $\rightarrow 0$ as $n \rightarrow \infty$

:.
$$\lim_{n\to\infty} (2n+1) U_{2n+1} = 0$$
 — 3

#

Example: -> Use poungsheim's theorem to prove that I'm is divergent.

solution: ->

: Et is a positive term series.

The sequence { th} is monotonically decreasing

.. By Poungsheim's necessary condition

for convergence is that nan→o

Hence lim n. In = 1 . #0.

Hence the series It is divergent.